ReSOLVING VECTORS
1.) Add labels to the arrows in the diagrams below to show their magnitude.
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	Ball thrown with 26N force at 53.1° above horizontal
	Boat travelling at 12ms−1 on a bearing of 027°
	Rocket launched at 39° above the horizon with momentum of 40 000kgms−1


2.) A ball is kicked due West at 22ms−1. The wind is blowing North-East at 14ms−1. Draw a scale diagram of this situation below and calculate the ball’s resultant speed and direction.

	


3.) A 20mm BMG round is fired horizontally from a Denel NTW-20 sniper rifle at 1080ms−1. After 4 seconds it is travelling downwards at 39.2ms−1 due to gravity. What is the round’s overall speed and direction?
1080.7ms−1 at 2.07° above horizontal
4.) A boat needs to cross a 14m wide river which is flowing at 6 knots (3ms−1). Its arrival point is 12m downstream from its departure point. At what speed should it cross the river? 3.5ms−1
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